ЛГР №1 
(1куср 2 семестр) Маслова

1. Выберите соответствующий перевод словосочетаний:

1)определять группу крови

a) to establish the blood group  b) to determine the blood group  c) to divide the blood group

2)место начала

a) the point of origin b) the point of connection c) the point appear

3) мягкое нёбо
a) the hard palate b) the mild palate c) the soft palate
4) при физическом напряжении
a) by physical exertion b) at physical exertion c) on physical exertion
2. Подберите пары синонимов:

1. change    2. visceral 3. dilate
a) inner  b) extend  c)vary

3. Подберите пары антонимов:

1. male 2. apex 3. external
a) fundus  b) inner  c) female

4. Выберите соответствующую форму местоимений:
1. He is the best student among …. .
a) us b) her c) it

2. We know … well.
a) me  b) them  c) he

3. This articles is for …  

a) she  b) they  c) you 
5. Выберите соответствующий предлог:

1. My friend was the last to come ….. the lecture.

a) on  b) to  c)in

2. … the adult the muscles form about 35% - 40% of the body weight.
a) in  b) at  c) for

3. The inner organs included … the thoracic cavity are the heart and the lungs.

a) into  b) in  c) from 
6. Выберите соответствующее местоимение:
1. Have you …. Books?

a) some   b) any c) no

2. In addition to examination we had …. credit tests.

a) no b) any c) some

3. He has … experience in the field of medicine.

a) no b) some c) any
7. Выберите прилагательное или наречие соответствующей степени сравнения:
1. He decided to achieve … results in the second term.
a) good  b) better c) best

2. Last summer we rested … than usual.

a) longer b) long c) longest

3. The book by Prof. V.V. Kovanov is … for medical students.

a) difficult b) more difficult c) the most difficult
8. Выберите верный вариант перевода предложений:
1. Он может прийти сегодня.
a) He must come today.

b) He may come today.
c) He can come today.
2. Вам нельзя курить.
a) You must not smoke.

b) You can not smoke.

c) You may not smoke.

3. Можете ли Вы лечить ревматизм?
a) May you treat rheumatism?

b) Must you treat rheumatism?

c) Can you treat rheumatism?
9. Выберите соответствующую форму сказуемого:
1. The skeleton … of bones.

a) is composed b) are composed c) compose

2. The spinal column … by the vertebrae.

 a) are formed b) form c)  is formed

3. The bones of the skull ….. together.

a) are connected b) is connected c) connected
4. Cranial and facial bones … the skull.

a) is b) is formed c) form
10.  Выберите соответствующий перевод предложений:
1. The condition of patient M. is worse than that of patient N.

a) Состояние пациента М хуже, чем состояние пациента Н.
b) Состояние пациента М такое же как у пациента Н.
c) Состояние пациента М лучше, чем состояние пациента Н.
2. The lower lobe of the left lung is larger than the upper one.
a) Нижняя доля левого лёгкого такая же большая как и верхняя.
b) Нижняя доля левого лёгкого больше, чем верхняя доля.
c) Нижняя доля больше верхней.
3. The bones of the lower extremities are longer than the upper ones.

a) Кости верхних конечностей длиннее, чем кости нижних конечностей.
b) Кости нижних конечностей длиннее, чем кости верхних конечностей.
c) Кости нижних конечностей самые длинные.
11.  Подберите к данным прилагательным подходящие по смыслу существительные:
1. pulmonary 2. anatomical 3. long 4. connective 5. thick 6. right

a) term  b) tissue c) artery d) layer e) muscles  f) conclusion 
12.  Выберите соответствующую форму сказуемого, обращая внимание на правила согласования времен:
1. The doctor said that he …. the patient a day before.

a) examined  b) had  examined  c) would examine

2. The researchers considered that they  … new phenomena.

a) had observed  b) observed  c) observe

3. The doctor stated that the patient … phenomena.

a) has  b) have  c) had
4. The professor found out that the patient … tuberculosis two years before.

a) has  b) had  c) had had

13. Переведите слова данные в скобках: 
1. (Печень) is the largest gland in the human body.
2. The duodenum (называется) so because its length measures about the length of twelve fingers.
3. (Жизненная ёмкость) of the lungs will be determined during examination.
4. The weight of the largest of (слюнный) glands is 28 rg.
5. Physiologists (установили) that in the adult the heart makes from 60 to 72 beats per minute.
